1N, dE/dn [GeV]
= =
%> S

10%

10

0.5

Ratio to Herwig 7.2.0 default
[N

7000 GeV pp Soft QCD

— | T I T I I T I T | T I I I T I T | —

(pT >0.2GeV, h]| <5.2) B
- --3-- Herwig 7.2.0 default =
I ¢ Sherpa 1.4.3 default |
=¥ ¢ 4=
= NO, .0-0"" =
| ¢ » _|

[N e
* ad
= *e vt =
— ’*’ ""‘ _]
- 900000 ]
: \ ’:
= =
— Sy B =
- =38 -
B e —
| EI _
= jlassee—_css -
§ | | | | | | | | | | | §
- [ 1 1 1 1 | L I I I | —
| " 1 1 1 1 | 1 1 1 1 |
-3 0 )

Rivet 3.1.0, = 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


